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O A&ZHE Xl 80,000
- JIZE |N24 50,0008 * 1,600S 80,000
O Jt2E old 300,000 * 1005 30,000
202 04 | 2,000 2,000 0
01 24048l 2,000 2,000 0
O JIZ2S Q2= 20,0008 * 1 * 100 2,000
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O MUl Setags geex 13,325
=3 40,6208 * 1% * 261 10,602
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1,000,0008 * 14! 1,000
O 2zl 3,493
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7,0008 * 19 + 299 2,093

_1_




SN orEBEE
D2 ol XK Lol
SRl Ty 2 = (25l &2
_ _ pSNE e
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 Gil it o Rz
—JIMSE U BHY HIAZLX Al
7,0002 * 10Z * 202 1,400
301 YR A3 400 3,250 A2,850
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02 RI2tOITHBH B A D 30,000 20,000 10,000
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401 A2 HI 2 2| 180,000 0 180,000
01 Al&t] 180,000 0 180,000
O B4diNZ U 48 89
1,800,000 * 100k 180,000
ZLHBEAY 20,000 20,000 0
= 10,000
= 10,000
307 21201 & 20,000 20,000 0
= 10,000
2 0,000
06 2&32 20,000 20,000 0
O 48 28z 20,000,000 * 14! 20,000
= 10,000
2 10,000
AHLSB2E 14,000 14,000 0
= 1,400
2 12,600
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= 1,400
2 12,600
02 2| 2SOl CHEHCH 8 AR bl 14,000 14,000 0
O SIEBHSSAY 14,000,009 * 14} 14,000
= 1,400
2 12,600
WHHS orEst=Ee 950 500 450
201 Yere gt 350 0 350
03 A2 bl 350 0 350
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— sa0 60,0002 * 574 300
- 50,0008 * 1744 50
301 QB AE 600 500 100
10 BAFAIH S AH 2 600 500 100
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= 4,000
= 4,500
201 Y2yl 8,500 8,500 0
= 4,000
= 4,500
02 BBl 8,500 8,500 0
O A&ZH KXl 8,500
— GIS(AIZT U ZRIAIAE) RXE4
500,0008 * 13 500
— JABEEY N
8,000,0008 * 14 8,000
= 4,000
= 4,000
THF SEAIE FHI (B X 7) 300,000 0 300,000
= 150,000
= 150,000
401 Al HI L LR 300,000 0 300,000
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O SHEHA S2F &3
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O sHEHA EXE HZ 5,000
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= 40,6202 * 1H » 261 10,602
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02 2229 10,000 0 10,000
O =223 10,000
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01 2L 2,000 0 2,000
O 28 2K AHASX 22
20,000& * 503 1,000
O IteHs &=+ ¥ MDA
20,000& * 502/ 1,000
2xgMd NE=s4 3,607,200 2,610,200 997,000
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O sOEHA 2SAMY HEXA
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= 104,000
= 210,000
MR IIEES XS 3,000,000 2,000,000 1,000,000
307 21zZtol ™ 3,000,000 2,000,000 1,000,000
09 2+LHEXZ 3,000,000 2,000,000 1,000,000
O oiUX MEIHEN HE =FM XNE=
3,000,000,000& * 12l 3,000,000
SHE 8Ald 2484 260,200 261,200 A 1,000
& 34,000
i 226,200
301 et el = 260,200 261,200 A 1,000
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& 18,000
12 J|Et2 43 18,000 18,000 0
O 2K - -EAXMuUsE X& 18,000,000& * 1CH 18,000
& 18,000
HRas(otd2eld) 156,897 139,619 17,278
HEHH K= 156,897 139,619 17,278
et HEES 26,000 26,000 0
701 JIEtSIHNES 26,000 26,000 0
01 JIEHSIHEES 26,000 26,000 0
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HY2IFY (M2l E) 20,901 20,901 0
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— RN2E SHAHY 7,371,000 7,371
O = & dl 5,720
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01 =2 WA bl 7,810 7,810 0
O BN2Y &9 7,810,000 7,810
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